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Print the worfsheets first if
possible.

Do the first 156 slides Gefore
turning on the video

Warm - Up - Try on Your Own

Simplifying Radicals \i 50

Adding Radicals |3 +_2]5 _3B+7,E
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Simplifying Radicals ] 5O
=|2s-2 =JzsJz
= 5Jz
Adding Radicals\rg ""',?E _354_?5
_ L, 3 +9J%

You will need an NSpire for this lesson if
you don't have one you can download the
Nspire app for IPad for free OR the Nspire
Program for PC. Here's the link.

» FREE SOFTWARE:

o We're offering free six-month licenses of Tl software to all teachers and students.
You can download these on our website now: Six-Month Software License.

o We've also made the TI-Nspire™ CX and TI-Nspire™ CX CAS Apps for iPad® free
to download through April 2020.

https://education.ti.com/en/resources/online-learning-program

®



https://education.ti.com/en/resources/online-learning-program
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Multiplying and Dividing
with Radicals

Learning Goals
- multiply radicals
- divide radicals
- rationalize denominator

Multiplying Radicals

Enter this into your Nspire and 'think' about
what is happening"

1[1.9 1.10]1_11]) Mnsaved w { \
o5 4
1‘25'4
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Multiplying Radicals

Enter this into your Nspire and 'think' about
what is happening"

1|1.9 1.10'1.11') *Unsaved w 418
f5{s =25 -4 =Jjoo =107
254 = Jio0 = 10

|

Multiplying Radicals

Enter this into your Nspire and 'think' about
what is happening"

1|1.11|1.12|1.13|) *Unsaved w ( \
i
F
2n

—
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Multiplying Radicals

Enter this into your Nspire and 'think" about
what is happening"

T3] 173> _*Unsaved a8
F: =iz = &

Js 2 J10
72 14

1B

Enter this into your Nspire and 'think' about what is happening"

4(1.11 1,12|1.13|) *nsaved w '

72
2407 2
f-u‘?_s-u’z_

Steps:

|
Y
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Enter this into your Nspire and 'think' about what is happening"

1|1.11|1,12|1.13|) *Unsaved w el
dfzdle = 1) V72 fie 7
2fitf2 =21 (32 2414
f.uf?_,3.ufg_:2o3. ,71 64114

Steps:
1. Coefficients are multiplied
2. Radicals are multiplied
3. Reduce

Enter this into your Nspire and 'think' about what is happening"

d111]1.12]1.13]» *Unsaved w /_"‘W
What happens when

2

powers are involved? )

(243 )%

(a-b)?

|
Remember ...

N Y,
™
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Enter this into your Nspire and 'think' about what is happening"

What h n 111112112 *Unsaved w 38
at happens when =
powers are involved? (‘}@2 z s 3
B0 =273 =4-3="
[a'bzlz a® b®
|
Remember ... !
Y 3/99

The power applies to
everything within the
bracket !

Enter this into your Nspire and 'think' about what is happening"

UIAZ|IAE] 1.4 "LRsaved W
(243 ) (2-3 )
(402 ) (-2
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Enter this into your Nspire and 'think' about what is happening"

QUITZIE] 1. 14|P TURsAVED W =  What the heck is
|J(2+_J‘~_21 - ﬁ going on here
BAIG H
The radicals
L/ h H) y J—> disappeared !

= l6 =42 +NZ -

=0

=6 + O —Z Inorderto "get rid of"
=Y the radicals we multiply
by the conjugate.

T'urn on the Video
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QIAZIAE]1.14]P  "URsaved W awned  \Vhat the heck is
(243 ) (23 ) 15| going on here
(42 Ha-2) 14 H The radicals

In order to "get rid of" the radicals we
multiply by the conjugate.

€ ;@(”;ﬁ)

Multiplying Radicals Handout

Multiplying Radicals

L ) i ici
When multiplying radicals, we 1. Mult ple coefficients

2 Multiply radicals

3. Simplify

Product Property:

)

Fora=0,b=0:vVavh = ab

Example: 2+/2%3./7 2+353-2/6)
A A

3 & | s
- e | - Te |-euz

E+9 5 -G -6V o
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Try on Your Own

Simplify the following
a) (3-/6)(-2+3)

"pause the video

and try these"

9 gl2+-5)2-5)

Simplify the following
a) 3-/6)(-2-/5)

= —6J30

0 ol2+-3)2-5)
2 Jz

2| 4 |2J3
-[5l-2/2]| -Jis

v 4
b)[_2+qf§f}[_2—u§]

2 J3
2 4 k=

—3 -2 | -9
=4-J9
-3

[l

Y
|

= +7ZE'72E”JE

10
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Dividing Radicals

Dividing Radicals

"Pause the Video and

Enter this into your Nspire and 'think" about what is happening"

k 1.13]1.14 1.15|) *nsaved w /

éw\'mlz

e
)
[

o
=
=

a
b
)

il b
[ |
[

\

11
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Dividing Radicals

"Pause the Video and
Enter this into your Nspire and 'think' about what is happening"

1.13]|1.14 1.15|) *Unsaved w 8
J; A

a\mE’

!/_.\
ol e
.
S

(o
b
)

il
[ |
[

Iz
&

3/99

Rule: Divide inside the radical and than outside the radical

Division Handout

Dividing Radicals
When dividing radicals, 1. _ Divide coefficients

2. Divide radicals
3. Simplify

Quotient Property: For a = 0, b = 0; _\/g_ - _\i
Vh

® 5
§! 3 9./16

- 6. \43 =7« \Z _ ol x21v2
éX% e aqax 4
2 =) %
:gxgﬁb — = 4;23«)3
s 6U= =14
702
&

12
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"Pause the Video and

Enter this into your Nspire and 'think' about what is happening"

Rationalize the Denominator

- ‘w[
_

- |=

S
N

e
[ B

Rationalize the Denominator

=_a 7 Rule:

2> —_ 2

. iz || Multiply by the same
Jf_ ~ | radical to get rid of
In > || the radical.

What do you have to do to make sure we don't

13
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Rationalizing the Denominator
A radical is not in simplest form if there is a radical in the denominator.

To eliminate this, we 1. MUlTiply Top and bottom by the same radical

2. This essentially means multiply by 1
;. Simplify

Simplify each of the following, writing your answer with a positive denominator.

443 9 3442
S5 2.3

|

a) b)

sy

-,

Try on your own...

Rationalizing the Denominator
A radieal is not in simplest form if there is a radical in the denominator.

To eliminate this, we 1. MUltiply Top and bottom by the same radical

2. _This essentially means multiply by 1
;. Simplify

Simplify each of the following, writing vour answer with a positive denominator.

a) L )(’_E b) ﬂ XE c) 3+‘E)<_E
> UE VR 2.3 U=
- F Cas (RN Led
(295 X(J3)
= 24Uz + Vo

S

14
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Final One ... Try these on Your Nspire and then
explain using algebra how you would do this on

your own.

41.15 1.16|1.1?|> *Unsaued?/ \

3
o
Js
3+J2_

"—1

2

- /

Final One ... Try these on Your Nspire and then
explain using algebra how you would do this
On your own.

41151118117 |»  *Unsaved w

15
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Try on Your Own - Worksheet

3U~-C3 —day 3 —Try on Your Own ... Multiplication and Division

1. Multiply

2)23%55 b) [av3)

@ -23)5++3) 9 (= Bfe+3)

2. Express each of the following in simplest form.

V30 V24 1416
J6 V2 248

3. Express each of the following in simplest form.

V24 -Jn 675
by V2
a) % ) & <) 3
4. Expand and Simplify
a) (x+3)x+2) b) (x+3)fx-3)
o) B+5)2-V5) @ @+5)2-V3) O (+ VD —VD)

5. Rationalize the denominator. (How can you make the root go away in the denominator?)

-
1 5 9
2 L b 12
RN ) & NG
a4 345 ¢) - VI8

2415 210

16
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Try on Your Own - Solutions

3U-C3 —day 3 - Try on Your Own ...Multiplication and Division

1. Multiply

2)23%5/5 b) a3
= |oJis L/i)éﬁ>
- 43
& [2-243)5++3) o) (x=B)e+5)
2 -0J32 x Nz
S| /o 1003 N x* | R
%Qﬁ - Blazax | B

Lf— B %ﬁ ?(Q+ (T)FD:LE\/‘X\/U‘E

2. Express each of the following in simplest form.

RE V24 14416
G V2 23
3. Express each of the following in simplest form.
o 7 75
o ¥ DRk ) &7
V6 V8 345 .
fix
= g -7z 7s
o s s this
=4 KEs S
=2 -

IETS one

4. Expand and Simplify

) (x+3)Yx+2) b) (x+3)fx-3)
= X 4dxa2x 6 = Xt 3x-3X-T

= XT4S%x+C =% 9
o) B+3)2-45) & +5)2-43) G+ VD -V
. N 2
-6-3TS r2V5-S 273 ) - (2
=1 -vE ‘f*\g -x -4

o

\
5. Rationalize the denominator. (How can you make the root go away in the denominator?)

a)ﬁml/% b)%zx% cW%
U IV IES
- Vs N RVERREY
=
=
/73
35 —-J18
d)2\6 e)zJﬁ -
s 2.5 =-JIxa
2 /S 27O
R =-3J2Z /2
Y 3 2-J/0 U2
=2z = 3J30
293 = 2 (10D
- sU% - -3 (298D
& =20
= 20
- -29S
/O

17
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Additional Practise (Optional)

pg 167 # 2,5, 7,11-13

18
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